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0.762 + 0.23
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0.762 + 0.23 = 3.3130--- — 3.3
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(D) 66.88+3.52 2)2+0.16 3 42.14+4.3

@ 62.16=-8.4 ® 16.02=3
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@ 66.88 + 3.52 = 6688 + 352 = 19

@ 2+0.16 =200 + 16 = 12.5

® 4214 +43=4214+43=98

@ 62.16 +8.4=0621.6-84="74

® 16.02+3=5.34

mEtA 12 Bt 2 A2 @ 19, @ 12,5 YYtt.
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3.9+3.8 =1.026---
1.026---x 2 = 2.052--- — 2F 2.05(L)




8.

B0l ATHE 18.4kg B, HoHs 1135kg BAUT 5 Aol
W ATHE G AbAe] 4.25kg M RHETHE, AR 25 9 AV "ag

Y7

At R 184 + 11.35 = 29.75 (kg) YUt
29.75 + 4.25 = 7(7)
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36.7+29.2 = 1.256 - - - — °F 1.26 H}]




